ECE 474 - Quiz 3 - Spring 2015

Name and last 4 of ID: K‘@M

1. [70] Draw a correct gate realization for the following code snippets.

module ‘one(
input ‘ini, in2, sel,
output z
)3
wire ‘a,b;
assign z = “(a .| b);
assign a = inl & sel;
agsign b = in2-& "sel;
endmodule

module ‘two(
input a, b, x,
output reg -z

3

always_comb o
if (x) %%ﬁ%;ﬂ
z'=a"Th;
else
z ='a | b}
endmodule

2. [20] What is wrong with the code here? It compiles without error. Explain what would happenn.

module three(

input 2 O i e N : 2 !
output reg z Wmu,féw::)ﬁmwm SN
); e

E]
wire my_wire; //declare .an internal wire i
assign z ='a | my_wire; \ ﬁmmmwgﬁii
assign my_wire = “z; (‘A‘ﬁw\ﬂ‘%
endmodule
N
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3. [10] Complete this saying: ”If without else gives a M”.

4. [2] What was unclear to you in this last week’s lecture or lab?



